f of f of the second se

 $f_{1} = f_{1} = f_{1$ 

## 2. Preliminary considerations

. . . . .

$$f(\mathbf{x}) = f(\ ,\ ) = \frac{1}{(\ )} \int_{D_{c}} f(p \ p \ ), \ p \ p \ p \ p \ .$$

$$f, \quad B = \int_B f(\mathbf{x})_{\mu} (\mathbf{x}) \mathbf{x}$$

, , f f , , t , , , ,

$$\int_{B} K_{c}(\mathbf{y} - \mathbf{z}) = \int_{B} K_{c}(\mathbf{y} - \mathbf{z}) \int_{C} (\mathbf{z}) \mathbf{z},$$

$$_{B} = \left( \int_{B} | (\mathbf{z}) | \mathbf{z} \right)^{\prime} = \dots$$

 $f_{1} = f_{1} = f_{1$ 



 $f \qquad f \qquad F_{\omega, c}, \mathbb{C}^{N_{\omega}}_{\omega} \quad L_{D, c},$ f |  $\hat{f}_{\omega}(\mathbf{p}) = F_{\omega, c} \mathbf{f}_{\omega}(\mathbf{p}) = \sum_{j=1}^{N_{\omega}-1} \omega f(\mathbf{x}^{\omega}) \boldsymbol{J}^{-.c\mathbf{p}\cdot\mathbf{x}^{\omega}},$ . .  $F_{\omega,c}, L_{D,c} = \frac{c}{\int_{D}} \int_{D} (\mathbf{p}) \cdot c^{c\mathbf{p}\cdot\mathbf{x}^{\omega}} \mathbf{p},$ 

$$Q_{\omega,c}, \mathbb{C}^{N_{\omega}}_{\omega} = \frac{c}{\int_{D}} \hat{f}_{\omega}(\mathbf{p}) \cdot {}^{c\mathbf{p}\cdot\mathbf{x}^{\omega}} = \mathbf{p},$$

111

$$(Q_{\omega,c})$$
 =  $K_c \left( \frac{-}{\cdot}, \frac{-}{\cdot} \right) \omega$  .

$$(\underline{\psi}, \underline{\psi}, c) = \sum_{n=1}^{N_{\omega}-1} \overline{\psi} K_{c} \left( \frac{-}{1}, \frac{-}{1} \right) \overline{\psi}$$

$$\boldsymbol{\omega} = \left\{ \begin{array}{cc} \cdot & \boldsymbol{\omega} \\ \hline \boldsymbol{\omega} & \boldsymbol{\omega} \end{array} \right\}_{\boldsymbol{\lambda}, \boldsymbol{\omega}}^{N_{\boldsymbol{\omega}}-\boldsymbol{\cdot}} ,$$

$$Q_{\omega,c} = \omega \omega$$
.

$$\left\langle \begin{array}{c} \omega, \\ \omega \end{array} \right\rangle_{\omega} =$$

## 3. Discretization of the kernel

f  $p_{1}$   $p_{2}$   $p_{1}$   $p_{2}$   $p_{2}$   $p_{3}$   $p_{4}$   $p_{5}$   $p_$ 



$$f \qquad f \qquad \mathbb{C}_{\omega}^{N_{\omega}}, \qquad f \qquad \mathbb{C}_{\omega}^{N_{\omega}}, \qquad \mathbb{C}_{\omega}, \qquad$$





-0





 $\langle \rangle$ 

$$r = \begin{pmatrix} \\ L \end{pmatrix}, \qquad = ,, \dots, L - , \qquad \dots$$

 $\begin{pmatrix}
L \\
fr = 1 \\
U_{L-}() = - \\
fr = 1 \\
fr = 1$ 



## Acknowledgments

## Appendix A

 $f_{1} = \frac{1}{2} \int_{0}^{\infty} \frac{$ 

$$\mathbf{f} - \mathbf{f}_{\boldsymbol{\omega}} = (I - G_{\boldsymbol{\omega}} G_{\boldsymbol{\omega}})_{\boldsymbol{\omega}} \mathbf{f} - \mathbf{d} .$$

\_ / . / . /

$$\left|\left\langle \mathbf{f}_{\ldots} - \mathbf{d}, \omega \right\rangle_{\omega}\right| \leqslant \frac{C_{\omega} \mathbf{f}_{\omega}}{\omega},$$